Sydney Girls High School

Mathematics
Year 9

Yearly Examination
2007

Time Allowed: 75 Minutes

Instructions:

+ There are five questions of equal value (20 marks each)

+ Attempt all questions. _ |

« Show all nﬁecessaly working. Marks may be deducted for
badly arranged work or incomplete working

» Start each question on a new page.

» Write on-one side of paper only.

+ Diagrams are NOT B scale.

* Board- approved calculators may be used.

UESTION 1:
1. Simplify 2432 -5/8

2. Expand and simplify (3\/—2_ —23 )2

3. Simplify by rationalising the dénominator:

a J§+l
T 53¢

L, Y3-42
S Ja+q2

4. Find the length of the diagonal in the cube shown in the

diagram. Express your answer as a surd in its simplest

form.

Diagonal
F G
i
£ X " Jsem
c
B _
A AT /5 cm
“*Eem D

5. For the following scores:

6 5 7 2 6 4 3 4
find:
a. the range
b. the mode

c. the mean
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6. The ages of participants in an aerobics class at a gym are

UESTION 2: shown below in a stem and leaf plot:
Stem | Leaf
1. Solve the following equations:
7 apeia a 14 2 8 8 9
a. — = — >
P P . 20 1 3 5 6 7 9
b. 32p-1)-3{1+3p) =3
@p— 1) -3 p) 3{2 4 5 6 7 8
c ’7(1—21_a+1_5 15
2 3 2 1% °
513
@ 2.2 4 -
2x X 2 . €
a. Find the range of ages in the class.
2. Selma is ten years older than Marge, but twenty five years 3 - b. Find the median age.

ago, Selma was twice Marge’s age. Find Marge’s present
7. For the frequency distribution table below, draw a

age.
combined histogram and frequency polygon:
3. Salve the inequation and graph your solution on a 3 !
. 4-5x * U
nurmnber line: <1 1 4
p 3 2 3
4. Make cthe subject of the formula A= QbXJ—E-. 3 5
14b 3 ¢ 0
5. Solve the literal equation for xx m = 1+ x A 5 )
+ X b
6 6

START QUESTION 8 ON A NEW PAGE,

START QUESTION 2 ON A NEW PAGE.
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QUESTION 3:

1. For the points A(-1,4) and B(5,~4), find:

a. the distance between A and B;
b. the midpoint of the interval joining A and B;
¢. the gradient of the line passing through A and B;

d. the equation of the line AB in general form. >

2. Avertical line passes through the point (-5,6). What is

its equation?

3. Find the equation of the line parallel to x+5y-1=0 and
passing through (2,-5). Give your answer in general

form.

4. Write down the inequation best represented by the graph

below.
y
\\ =
N
::€x+2y=6
RN
3 1. 2 1 Ly 1\1 1 1. 1
5 4 9 2 i D 3 4 5 X
4 AN
2t AN
3 \\
“ N
-54 \

5. The coordinates of the midpoint M, of the interval AB are
(7,2). If the coordinates of A are (1,~4). Find the

coordinates of B.

6. Twolines x+3y+3=0 and y=mx+2 are perpendicular.

Find the value of m.

START QUESTION 4 ON A NEW PAGE,
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QUESTION 4.

1. Homer is a nuclear i)ower plant technician and is paid
$500 for a 40-hour week. In one week, he works 12 hours
overtime of which 8 hours is at time-and-a-half and the
remainder is at double time. What are his earnings for
that week?

2. Patti works at the RTA on an annual salary of $39 104, If
she receives 1’7%% holiday loading on the four weeks
holiday pay period, calculate her holiday pay for the four

weeks (use 52 weeks per year).

3. Moe’s gross income is $64 530. His tax deductions
amount to $1360. Using the tax table below:

Taxable income Tax on this income
$0 - $600Q Nil
$6001 - $25000 15¢ for each §1 over $6000

$25001 - $75000 $2850 + 30c for each $1 over $25000

$75001 - $150000 | $17850 + 40c for each $1 over $75000

$150001 and over | $47850 + 45¢ for each $1 over
$150000

a. calculate the amount of tax due;

b. his Medicare levy if it is 1.5% of his taxable income.
4, Kmst'y is offering multiple discounts of 15% and 12% on

the cost of a wall clock. If the clock was originally priced
at $98, find the final discounted price.
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5. Lisa bought a saxophone on terms of $150 deposit and

24 monthly payments of $30. The cash price of the
saxophone was $700. How much interest did she pay on

the money borrowed? .

. Bart bought a magic kit for $90. If the price included 10%

GST, how much would the kit cost before GST was
added?

START QUESTICN 5 ON A NEW PAGE.

QUESTION 5:

1.

2.

Expand and sirglplify: (6+m)(2-m)

Expand and simplify: (2a +3)° - (a+1)(a-1)

. Faclorise fully:

a. 100a* -25p°
b. 4x? - x-18
Simplify;
a’®+5a+6 a® -1
2 X 2
a* -9 a® +3a+2

X _ xX+2
X T7x+12 x*+0x-3

Solve [or x and y:
3x-8y=2
2x+5y =22

END OF TEST ©

Page 7




YEAR 9 YEARLY EXAMINATION 2007 -
Quc srigm ! (0‘2{\\4 [N %N )

\31531 -~ 6J8 w244l ~54207F
=22 1ol

= - 202 @

1g - 12 412
3o —{L 4
&)

30\) ﬁf\ :§+SXE
503 sz {3

7

2) (355 «1@)2

il

o]

I3 -1F «3-0 3 5

5.7 G.3 .6
S (B-GY
(ﬁ+ﬁ\ﬁ§~ﬁ>

=320t v2

3-2
':.,5'.‘25—(: @
&) BD st as

=50

FO = FR 48D
=25 + 80
< 8

en =513 cmm

- - elagenal of cuoc 1e BYE cen,

(3)

SOLUTIONS

v

59,> Qc,hgc -2

O
b>MGéC:A” ard 6 @

<) = = 3]
“:41(3’)_5 ' @

egﬂaﬁazsewdf :
= 39 CI)

B) Median= 27 @

™

i

(S 2

]

Tregue ey
Roow
i

L -
N

i

1

QUuestion 27 (80 mar V»f::)

la\j—gp ¢-\4‘—P
Zp = =7

7 &),

B 2 (2p ) 2(1v3g) =3

6P~3“3,—‘CKP =3
“*BP—-S = 3

3(la-2h ~2(an) =5
6

2la -63 =20 -2 = 30
{9e.~ g5 =3¢
Qo =qx

a=5

2) Let Maﬁge\s age = x

S %a\mg\s oat =X 410

(ac+\e) ~28 ::z.(gx—zs)
2L -5 T2 -BO
=3 =$E

,-lAHod:BC\S Pr-cs.af‘ff 03?_ =25

2) 4 B |

2
G - S L2
~Ba £ -2
x > 2
> 3
< O e ——
= T T T purg ¥ ]
~4 -2 2 4.
B s 5 =

,,f‘L = =

4t =Y
c = Aid
4t

5) o= e b

(e
M=) =\ vbot
~ e e o ’a\&b:‘x‘

bmmmu N
x(b—~M} o gy b

oLo= m-\‘

o

®




Questond: CQ-O mé“/\‘f’5’>

te) dx; JCQ::L~°~1Q1 SH "\f\)l

=J(S +l)2 + (—4~4§‘2-
1/ & 5 («8‘)l
= 36 + 64

- S0

il
T
!
ESRE
m
ES
SRR
-+
[N

A
FamaN

IS}

o4
—

T, -
= —d — 4
¢ Bl

D =Y, =l )

Y :—‘4‘"”"% <SC+\>

g\.\ —\2 = "'4‘:(. "4‘

doe 43y ~ B =0

pc«‘ ol e \\w\.ca -~ . = vy

2
N T A

2 5

R Mialasl CRE
NS '—‘—‘".‘S_ (:c*l)
5\1 25 T~ 4+ D,

:‘145\1 F 22 = O

4> B 441\1 < 6

M = <§g,azm+\u>

S

(1i2) = (‘* 3 —4~w1;>
A 2 2

(3)

\‘3.‘.'11 27 ."4"'}'&1;\‘;"“2
2 Z

Uiz, =i T gy = 4

R o, =9

-0 B(13,8)

3+ B =20
Qe

gk

3\\ = -2 ""f'\:1 =
:-‘_Ld_ "\
\s 3
3
1> : - Ymes 1 o, o= —
ecpeadicuio b= 2 .

T =R

Q.,uc shon A2 {JO ey "C""b)

5 Hourty rote = %500
4Q
:$!’2‘50

Nme ~and ~a-half = $12-S5%)S x %
= 380

Dounte ~Heme = 12850 %2 x4
24100

.'.‘v\\eck_\\j woge = ¥800 + 180 + S0

= £730 C
2
DWeekly pay= §39104

52
= %182

*‘\o\‘\doﬁ peyy = wWi.8%, % (&152 ><4~)
4353440

i)

B) Toxeble lmcomme =§64830 41360
- %631M0

a) Tax payabie
= $2880 3 6'37((4,’3\"]0*25_000>

= %2850 1 §4g)

= 1430 @

) Medicare levy = 1.5% ¥ %6310

= %£a41-55

A Flao cost
T 08 X085 x £92

= %73-20 (f\cor'es-\- c,c*-*)

5>Mom5\1 bor rowed = $T00~ £i150

= &es0

A et repatd = 24y £30
= %7170

Trheresk patd = $726 - 550
> %m0
é\) Led cr—‘SWrx‘a\ cast =~

WO v = =90
o :$8\‘8\

C o est C—@""YB

(




Questan 5. (’01/0 v\m:;n/\éf:)

D (ermN) (2 =) =12 g £ Lo =t
SR PRy SR

?

<
2 (1:;\-»3)1—- <Q+\>(Q~\)

= 4a +\2a 49 — (o —1)
= 3 +12a +10 ‘ @

3 o) lood -258 =26 (4d - Q)

=25 (2a-b) (20;@

®

O
= 4ol & Boe ~q pe A8
Ao (242) =9 (= +2)

(= +2) (4x~9) @

40y 4Botb % o —\

or ~4 S p3ar

2 (o BB D) (ot (e
(o@D (o (or

i

H

By ¢ = mr2
oC ¥ et 12 ot e 2 -3
= 0P o — =< t 2

(o + 4 G v3) EXA CELE

= oo Lo =D — (o2 (o e 4)
(o + DG r3) (o ~Y)

= ot~z — (><_1+69c*r8>

(= #4) (= +2) -

= ~T7x % .
(o +a) (x +3) (=~

2o Sy

2 @
22 @

[T

SR (a:x~\é\1 = A @

@& 3 &= ISy = G
@—'@ X 3\&,} :62
. =2

Soe Y22 e @)

3:>L ~ 8% =2

B~V w2
Bx =18
o =6

"-DL’-*A,L(':’)

®




